101. The control rods is a nuclear reactqr\ :

M absorb neutrons

102.

(B)
(©)
D)

accelerate neutrons
slowdown neutrons

absorb excess heat produced in the reactor

<igmsm 2 eaulde 2 erar LU () Carese

@)
®B)
(©)
D)

By grensean e_Hl@sid
Bl _grensefler Coussams 21 sfae0
Bl prensefler Ceussms GmnaEEGLD

2 eneuiler Geuaflwin@b 2ifls siarey Qeuliugams 2 M Ehaid

Which atom model suggests / includes the following statement?

“The electrons can revolve around the atomic nucleus only in those allowed circular

orbits”

A)

Newton atom model

W Bohr Atom model

(©)
(D)

Rutherford Atom model

" Sommerfield Atom model

s gl LS augaud SpsarL ampen QaTar g

‘s yTeanser D@ o L smeea &M DigshaTar el L iurasudd wl GGw sphleimn”

(A)
(B)
©
D)

Bl L6 oigm) auigeuld
CumT 2iem) cutg eULD

aHsT CUITTH Diem) GuigauLd
CamomSe [ d}i@] QJIq.G’LI.Lb
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103. The chemical name of Aspirin is
(A) Tartaric acid

Benzoic acid

M Acetyl salicylic acid

(D) Per chloric acid

%m&:ﬂm m@ﬁ@@@m@ﬂ@u@ﬁ
Q) Lmiirfs suflen

B) Queevmuils e

© | Sifmiie =8 Sithelb

D)  Qui GGarmis Siflatd

104. Plant diversity is greatest in

\M Tropical forest

(B) Temperate forest
(C) Deserts
(D) Farm lands

srauy Leuamamw s Sifswns sremiuBeug)
(A) Qeuliu wertL e HTHGET

B) V5 Qauiu wem_e ETESE

(C) ureveeuamiseT

(D) flausmu Hemiser
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105. Consider the following statements

1. Blood returning from the lun'gs enters the left atrium passes into the left /

ventricle and is then circulated in the body \

2. Blood from the body collects in the right atrium, passes into right ventricle \

and is then pumped to the lungs

3 Blood from the body collects in the left atrium, passes into the left ventricle

and is pumped to the lungs

Which of the statements given above is/are correct?

4) 1only V(Eﬂ and 2 only

(C) 2and 3only ' D) 1,2and 3

£Gyp Qar@ésiiul Harer aursSunisamen saiaés

1. @rssorens; @mgﬁﬁ!gaﬂd; @mis Qg er_flu auflurs Qearm QL g Ceuee flgamer
b Genani 2_L_efler wHD LGS SEH&EE QFwdng).

2. 2 Lelled QmBHa Quy_mhum'.t. @rssworang awog glfuw aflurs Qésing mm.e_g,j
Qeuane fdsmer L b5 Genant menTuiTass Qsodng,.

3. o Lalldd @mbgs QuplulL @rgswrers @Lg glflund aflurs Qeeam s
Qeuenie Nésamer L) Wenant menyuSyasE Qswdns.

Cue Qar@ssiiu L eursdwunisafle erg/erencu sfluraranau?

(A) 1wi@wb ' B) 1wpmb?2

©) 2wimb3 D) 1.2wopmin3

p | 29 JGE/N9
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106. Which of the following disease spreads due to the contamination of d_rinki_ng'water

"~ and milk?

(A} | Scurvy_

'® Malaria .
(C). ‘Dengue - |

Typhoid

. Geneu(meusmeupIeT, @i 5 1DHmD LD mn&u@@gﬁdﬁ uyeus S ur Cpmil ergs? ‘

@

(B)
- ©
®)

cvaETel
e -

Ql.;é:@ .

LMy

107 Wluch god of the Aryan fulﬁlled the dual functlon as war god and weather god‘?

u&)’ Indra

B
- (©)

D)

Varu_na,
Véyu
Rudra

.:g,rﬂu.l asl_mma;aﬂa) Gumr asusuefr LOMHANLD esrrm;ﬂm B G|EIE @@ Lemflmar G]&u_lu_p.o &L_sqemra

&i(l]'),«!_f:ul_I@uaJrru,lrm? L
@ @!Bﬁm - .
.(B)" U (TG
© e
_(D) @5@3&5
JGEN9 o - ‘ ._ .p-‘; __



108. Who was the first Indian Judge to becor_ne officiating Chief Justice of the High Court
of Madras?

(A) Chettur Sankaran Nair

Venkatarama Krishnaswami Iyer

Vﬂ/ T. Muthuswama Iyer

(D) Subbayyar Subramania Iyer

Qsenenan 2 wit & LADSHD (e (PHOTS @u@@uu.'_._ Bpdw pHuS wi?
W) Crisn smsppriis |

@)l CartieLions Butaaraeins gl

©) T.pégsamd gui

(D) sueuwr &L TLeflw guiT

~ 109. Which of the following pair are correctly matched?

M Buddha — Agnostic

(B) Birth of the Buddha — Horse
(C) First Sermon of Buddha — Lotus and Bull

(D) Eight fold path — Trishna

Epsan_ameusafler ereneu sflwimer @aernuns Ceirssliul [Hererg)? h
(A) ussT— sLeET FHUL LHILILLD Geengeurt - 3
B) usst Gpiy - Gy

| (C) uyssT Wse FLW LTLUILE]T — STLOED]T a;lrrc.mm

(D)  erewm cuens LOMTESD —Slfl e
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| 110. "Common Wealth" Weekly was started by whom?
| "(A_) Bala Gangédhar Tilak

(B) C.R.Das
% Annie Bes'anf

- {D) Mothilal Nehru

‘smoen Qeucdg’ aury ugH rﬂa’;eu;asc_mu;l Qasm_sdlweui wimr?
Q) ure shsTsy Hesi

. B) - CR. s
(9] a@aﬂ@u&@rf_ aubmmd_:rrr'r

(D) Curfered Coemy

| 111. . Subash Chandra Bose went to which place after the surrehder of Japan to the Allies
in the IT world war? ' o |
- (A) ' Sydney n Austraha
(B) Smgapore

M Ta1pa1 in Formosa

Seoul in South Korea

@uambd 2 @sCurfld grvrdar Crepn@saiib SIJme_nﬁr_'r,glﬁlérq ;un@_sgﬂucu&du Grral@ '
G&éﬂg)rfﬁ? " ‘ o | o
@A)  apiSCreumeigydor A o
B Mmsoygi o

© cwmiGorsnegidrar @siiCu
@) GgenGsriursgierar ACuTd

JGEMN9 - . 32 - S o



113.

(A)

®B)

112. At which place Ahom's Revolt was broke out?

Tripura

Bihar

a5 @SS Camd Ly 8 Qeug558?

(A4)

®)

(&)

(D)

Which Round Table conference was participated by Gandhi?

A

Sflygm

Sami
fsdld

S{EVGVITLD

Eirst Conference

Third Conference

\J/Second Conference

®)

aThs eul_L Goeng oMBHTig6) &hd) sebg) CamerLmi?

(V)
(B)
(©)
(D)

None

PSe mnlmrf@
epeTmid BT
@yerT_mb BT

gannidlevene

33
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114. Inthe Global Warmir_ig point of view, the name ‘The Christ Child’ associated with .

v“( EL NINO

(8) LANINO
-.(C) Green house effect

(D) Pink Revolution

Ladl Qmuumu_lmrrgaﬂéh unieande ‘Gpims Gus’ e QUL BBEIL &1 ASMLTLILWH?
@) ao HCam |

B o .rfl(%m:r

(C) Q&ww Qdwe alenarey

@)  @engsélon upi s

115. Name the states which are highly affected by the ﬁ‘opicél cyclone
(A) Tamil Nadu - Kerala | -
: JB( | Odisa — Ancihra _Pradesh
© Karnataka — Odisa k
(D) Kerala —_Karnatal;a

SweamwearLe @prauclured fleed wfsors urfasiivGo wrflemsefier Guwisedr

wimeneu?

A) sBporH - Cayert

B)  guer— bdidyGesw
©) sipm &b - gusw |

(D)  Gaper - sipTLaD

JGEns - 34 R o



S116: Expansion of Inland waterways was initiated under the

Jal-Kanya Project

V@( Jal Merg Vikas Project

(C) Bharat Mata Project

(D) Uday Project

2 B Bireud HLkisaer edflainas QBTLRISHILLL LD
(A) g sawr b

B) g wriE efsrev ﬁtl_l.b

(C)  ums wrsT HL b

(D) eosudiLb

117. The external éauses for.industrial sockness are:
L. Power cuts
II. Financial problems
III. Government policy changes
IV. Heavy debts
A IandlV (B) IIonly

Vee)" I and III (D) IV only

Ggmflevaser pelley siemieugpaer Lméasmyentlser

I  Bar s GuuT®

II. B4 Qrésemanser

III. erélen Qamenens WTHDEIGET

IV. sidss e

@) Iwpgw IV B) II wi@Ewb
© Licppodl - | ®) IV oL @b
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118. What is the major instrument of price pOliC_')r" in Agriculture?
(A) Selection of commodities

Maximum procurement price

\/ Minimum support price

(D) Minimum Retail Price

Cauermaimmenwo afleney Qamerensullen adlw smeflwns @ mLLIS) eTg)?
(A) Qunmerseer CaibOSHES®

(B) 248 ulsQsamerapse edlene

(©) EoppsuLs 576 cllaa

(D) @w,rg;b.g,ul'_& Seewenm eflened

119. Lord Cornwallis introduced the to
(A) Ryotwari system
(B) Jagirdari system

(C) Mahalwari system

MZamindari system

smireneumellen Ay Qarer() eubssi
@)  pusen gep
®) gréisnf wep
(C) wsaeurfl wperm

D) gleasmil wep
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120. The constitution (44*» amendment) act 1978 changed the right to property from
I Fundamental right to legal right
II Legal right to fundamental right

IIT Fundamental right to basic features of the constitution.

Which one of the above given statement is/are correct?

W I only
B) Ilonly

(C) IIIonly

(D) II and III only

Sirflueenoiiy (44 eug HpssE) s b 1978, Qersgiflenoani
I  eyxiueL 2 flewwldphg L o fawwns wrmblug.
II sl 2 Aewlladmng Siglum 2 fewwrs wrHblug

IIT  sguue 2 MAewullemhal iy lLemL & gaprs wrhHiug).

Cupasar_ sapmsafle erg) Fflwimeng)?
A) Iwl@eo

(B) IIwi@w

©) IIIw @Ew

D) IIwpgw III v Gw
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121. The committee to recommend amendment of Act 311 to dismiss the corrupt public
servant 18

M P.C. Hotta commit'teel
| B) - Administrafive Reform conim'ission
) Anux_nantha' rao 'comm.ittee'
D) | Santﬁa—nﬁ_m conirhitteé
sarpdd LABs s safweny Leafludd QEbg e Sweewiy 2.poy 311 &@ggm_
_ (Ssusm@l.n eran LMG&I0ISS a;uSh_Lq_
(A) P.CGapriim@
B) @ﬁdn& §ﬁﬁ@§§ .;gbwmsm.u.b
H{O) s@ops e G -
@ #iﬁsfarmb &u

- 122. “The supreme court of India has more powers than any other supreme court in any
part of the world”—Who said this?

&u)/ Alladi Krlshnaswamy Ayyar |
B) HC. Mathur A

(€) M.Bhakthavachalam

D) Dr.Réjendra Prasad

“QEBU 2 sepodpd el abp priwgder obs fBwdapsms o s &ﬁﬁﬂvm
e LGl D" @eieuny SPuait wni?

(A)  sidvemy Spayamaeumsdl <t

B) H.C. Lnrrgg,nr'r- '

© A M. ugg,@g@m"

D) Dr @rrCepd Gens

JGEN9 - s N T



123. Match the following :

(a)

)
©
@

A)

Simon commission
Nehru report-
Second round table conference

Communal award

(@) (b) © @

1 4 3 2

w‘}'3 1 4 2

© 3 1 2 4

D) 2 4 1 3

QurBE8)s :

(@) @swaEW

b) Cpm <ifléms

© Qram_rag el Gueng wrpmd

@ ooy e gpeop |
(a) (b) (© (d)

A 1 4 5 2

®B) 3 1 4 2

©) 3 1 2 4

D) 2 4 1 3

39

1928

1932

1927

1931

1928

1932

1927

1931

JGE/N9
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124. Which of the following schedules deals with languages"

de Eighth Schedule

Eleventh Schedule
(C) Fourth Schedule
(D) Sixth Schedule

Slerau(pid BiLLcuanenaatic lergﬁla;eir UDHHIL DL CUEDERT 6T ?
(A) el meug Bl _euenast

®B) udGempreug aul.;_ma:mr.

C) prrsinasrrsﬁg: B LG ET

D)  yoreug il euenaw

125. The comptroller and Auditor general of India is responsible only to
(A) The President
(B) The Prime Minister .

© " The Supreme Court

v@)/ The Parliament

@E@MS SDAMIOE SAWTES, 1OHIID ﬁﬂﬂm FoD geoalt LTGEES Gurrguqm'._u@fr?
A)  Gywurss pepaeult ‘

B) Qg siewisi

©) ob5 Efienpid

D) - ann@ms&rmm

JGENS a0
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126. In the first 10 overs of a cricket game, the run rate was only 3.2. What should be

the run rate in the remaining 40 overs to reach the target of 282 runs?

M6.25 (B.) 6.5

(©) 6.75 : D) 7

e HMsQs . ellenerwmige s 10 geaursaflen gL eisb 3.2 aafld 282 eram @osams

i w Bguerer 40 geuiseaien @UL eI eremen?
(A) 6.25 _ (B) 6.5

(C) 675 o 7

127. The area of a rectangular land is 240m2. If 8m is decreased from its length it will

become a square. Then the length and breadth of the land respectively are...

(A) 12cm, 20cm ~ (B) 12cm,8cm
WZO cm, 12 cm (D) 20cm, 8cm

@m Qsaieus auges euwelar upliuerey 2408°. s@eLw Barliusssddmbs 8 QsS

GODSSTE BiF)| (1H FHITOIGD. SiGen Harbd, SisLd (pernGus
(A) 12Qs8, 20 QsS (B) 12Qasb, 8 Q&b

(C) 20Q@s5, 12 Qad (D) 20 Qa8 8 Qsd

p 41 JGE/19
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128. A washing machine was sold at Rs. 15,000 after giving successive discounts of 15%
and 25% respectively. What was the marked price

(A) Rs. 25,500 | (B) Rs. 23,000

(O)  Rs. 20,000 ' va Rs. 25,000

Qerui geamerugser apenGu 15% wHpb 25% eaempeumy STULLH @@ FOme @mg,ﬁqw
@. 15,000&@ eﬁ]g)er.uul_l_g ereled igan @,r_ﬂgg afleney erement?

A) @ 25500 (B) . 23,000

© . 20,000 | M) - 25,000

129. Eight men .and twelve boys can finish a piece of work in 10 days while gix men and
eight boys can finish the same work in 14 days. Find the number of days taken by
one man alone to complete the work and also one boy alone to complete the work -

\ﬁ( Man 140 days, boy 280 days
Man 280 days, bay 140 days

- (C) Man - 150 days, b_oy - 300 days
(D) Man - 300 days, hoy - 150 dﬁys :

8 gyanadr wHpw 12 Hpaisdr Csipg am Caamawau 10 prissfia Aslg qpyluri. oGs
Geuamarew 6 el LD'H_)Q]LD 8 Agaulisdr Coipg 14 prisaie ey aprluf. G e

safluns am@mmmmm Grg,gmw Bl sefled” Gelg WiglIumi? g é]gmeuaﬂ gaﬂu_lrra;

21euGeuamsvanw crggaoaﬂ gf,rrl..&;ﬂ‘ﬁ@ Qeigl pig Limea?
(A) < 140 p_ser, Hieuen 280 pm_ser
B)  syein 280 pri_ser, Aipieue 140 e s
(€C) e 150 prlser, Smeue 300 BIL_&eT

D) e 300 prlser, Ameust 150 pr_sar

JGE/19 42 p



130. Which of the following mode of transmission cycle is exhibited by Dengue virus?

Man-Man (B) Man-Birds-Man

M Man-Mosquito-Man (D) Man-Pig-Man

Epaar_cupmer, QLkiE eeaurey ahs swHél apanuie ureydps:?
A) welsear-wealgean B) weaflger-unemeu-waflsenr

€) walger-Qars-walsen . D) walgar-ued-wafger

131. A and B can do a piece of work in 12 days. B and C in 15 days, C and A in 20 days. In
how many days will they finish it together and separately?

\‘ﬂ/ Together = 10 days Separately A = 30, B =20, C =60
(B) Together = 15 days Separately A = 35, B =25, C =65
(C) Together = 20 days Separately A =40, B= 30, C =70
(D) Together = 25 days Separately A=45,B=35C=175
A, B @oaumw em Caumaamwu 12 prisefle Qsug wyuur. B, C 265 Caumaamw 15 prisafld

Qg apglur. C, A =G Caumaamw 20 prisafld Qeig eylur. epaumd Caibg WHHID
saflsgailunsab euGauemaamw erismen B seafld Qalig wprlui?

(A) Geing = 10 priser gafissafiuns A = 30, B =20, C =60
(B) Gsihg = 15 priser gafigsefiuns A = 35, B =25, C=65
(C) Csing = 20 prser sefgsafiuns A = 40, B = 30, C = 70

(D) Gsipg = 25 priser sefligsaflurs A =45 B=35 C=175

p 43 JGE/19
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52

132. Volume of a hollow sphere is 113 cm®. If the outer radius is 8 cm, find the inner

radiﬁs of the sphere
@) 6em | \4{5 cm

© 7Tem | D) 8cm

11352 s0ls.8. wHmid sigen deuall b 8 Glsib. erefled

. @@IQ_GiTGﬁ._g')[D Gasrreﬁﬁé]eh ST DIETEY —
: 7

ECanagHon o ar oy ysmss EnGTs.

(A) 6Qs8 . (B). 5Q&8

©) 7Qs8 o | ©) 8GsE

'133. There are two mixtures of milk and water. In I mixture ratio of milk and water is
5:3. In II mixture ratio of milk and water is 5:4. In what ratio, these two mixtures

are mixed to get milk and water in the ratio 4:3.
(a) 4:3 | ®B) 3:4

© 3:1 1

- ungIb BEHD SOES B SMEUEET 2 GTaTar. PG s une, Gl Sﬁiﬁgfo 5:3 erameywd
@U‘G&GTI_-ITG}JQI saeeule umw, Bfldar aAfgn 5:4 eren e drerg G asmasja_la)u_ml.b aThS
Aflz5H6 spsme Lngib B 4:3 adm eSzsHi @@EE!D? |
@ 4:3 | ® 3:4

(©) 3:'1_ o @) 1:3
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134.

135.

Some persons are standing in a queue. A child is standing 14th from the left and a
woman is standing 8th from the right. If there are four persons between the child

and the woman, how many persons are there in the queue?

@A) 25 \pﬁ/ze.

© 29 D) 32

em aflemsie fo Cui flam OCsrangmedamear. @m GYH®S 2GS ufesulen
Guiopg ldag @uédan g Gudar aallnss 8 ag @Qusflad Hipddampent
GYimssEw, Quaraiin@gn @auiled 4 pul QMmEEWL 2GS euflasulienr o darer QwIss
puitsaflen cramenfléens erenan?

(A) 25 | (B) 26

(C) - 29 | (D) 32 -

The average of first 100 natural numbers is

(A) 55 ' M(w

(C) 515 . (D) 50

s 100 Quie eramaaflen spnafiwneang

&) 55 | (B) 50.5

.(C) 51.5 (D) 50

45 JGE/19
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136. Find the common ratio of the following G.P. 230 150

T
3 4
Ve ®
: 1 2
(C) % (D) =

%, 6728 0 eremm QumEE Qgmit mtﬁé‘:&uﬁls&r’ (G.P) Qung) efl8lzd srawms.

5’125

3 : 4
(Aa) = _ (B) 5

1 2
© = (D) 5

137. Find the number of all 3 digit natural numbers, which are divisible by 8.

v{ 112 | B) 110

) 111 ' (D) ~ 108

8 @6 auEUBID epahless Qe aarsafen cramTarllEmasmus SrarTs.
A 112 B) 110

© 111 (D) 108
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138. Who is considered as ‘Father of DNA barcoding’? -
(A) Smith
(B) Chrispeels

\K Paul Hebert

(D) Gartner

q-.a@.é. auflg @HlulHsdlen Hens erens &HSLUILMUGUT uimT?
A) evlls

B)  shcviSeod ;
©) umé Qanui’

(D) sl enr

139. Which country is known as the land of the white elephant?

(A) Myanmar

(D) Philippines

QaueTener wWrenar Ca&LD eTam SMPSESUILIHWD BT 675)?
(A) Owmemof

B) Awlpmd

©) sruebg

D) Yhuenueren

5. 47
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140. When did NITI Aayog come in to existence?

(A) 2013 - (B) 2014

\ﬂ( 2015 D) 2016

&) .:@,(f&_ﬁé’: riGuIng) menL_(panméE Qsmen(® eurliLil L g?
A) 2013 (B) 2014

@) 2015 (D) 2015

141. In which of the following day onwards the use of plastic was banned in Tamil Nadu?

(A) 15th August 2018

w/ 1st January 2019

(C) 26t January 2019

(D) 10 August 2018

SO BT 1g 60 Grésrﬂaﬁ@,r},gj Wermeig & QUTEBL ST LweTLBSgIeug sl QEuiu’ Herers?
(A) <ysevl 152018

(B) mareufl12019

(C) mewaurfl 26 2019_

(D) <ysevr 102018

JGE/19 | e a8 8



142. Swachh Paryatan Mobile app operated by the Ministry of

(A) Forest
\,@f Tourism Development
(C) Health

(D) Human Resources

—— Qorssmeune &g (gnuewuilwugrer) uflugrer S@Cusl Gewed
Qeweu®ss0uBEDS).

(A) euanggiemn
B) ashmeor euerTEs
(©) ssrsMb

D) walls auerd

143. Subramaniam Balaji Vs. Govt. of Tamil Nadu is the case related to the matter of

w/ Contents of election manifestos

(B) Election code of conduct
(C) By election ‘
(D) Eligibility of the.candidate

‘sUgwenflwbd LTeT) WHMIL SWILBETH T& eTanD aUWsEEHE sy w efleismyid
(A) Gsige SiPlsensuler &dTGITL&éJ';Lb |
(B) GCsige pLgeas dlser
C) @as Caize
D) Caulumerfen @

o 49 JGE/19
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o 1_44'. When was the first Nuclear test condﬁcted in India?

- (A 1988 - - ; (B) 1999
\;9)’1974’_ S (D) 1975
Bpdwreller arbg < @TH -@g;ésr-(gpw,rnu.lrra-s T HWS CETFne BLESIULL§1?
(&) 1998 - (B) 1999 | |

L (© 1974 )y 195

' .14'5.. India's largest fail Icilm road bridge cdm_iects which of the following states?
(A) Andhfa pradesh and Telengana

.

Ra]asthan and Gujarat

% Arunachal pradesh and Assam

1)) PunJab and H1machal pradesh
I@ﬁsgﬂmn@ﬁ@-_@& sm@ﬁm snee wpmo gulld unebd Gdmaih Gr‘r_"g'g,.@@ wrflohisamer
@oansfpg? | | | -
) mdy ﬁ]gég,&m mm@m'@@@m}n'
fB) N r;'ngr.ﬁug,m WHmID @&Wg,‘_ _
H{O) .@;@@nm aﬁ@mwg@a@m@ )

-

| M)  u@sems wHmID Gonssam G

JGEN9 . | 50 L



146. The book, ‘The Fall of the Sparrow’ is written by
(A) Vandana Shiva (B) Arundhati Roy

(C) Jim Corbett um" Salim Ali

‘8l o' oLUMeD Yo oLl &T GUUIMTGHN 6Tarm MO er(pSlweur
4) aupganT afleu B) simBad gl
©€) QasmGul (D) &edib el

147. 'According to the 2011 census the lowest density of population is recorded in the

state
(A) Mizoram (B) Sikkim
Arunachal pradesh (D) Nagaland

2011 oyb yarh wasar Qgnans samsCsBHUubany, Gapaurar waseT LTSS ey
Qewwiul L wrflew : '

(A) WOCGgmL . (B) #sdd

©) mawnsse GgCsed (D) mrarerhg

148. Which organisation launched the E-shakti project?
(A) SEBI

B NABARD

(C) Indian Council of Agricultural Research
(D) . Rural Electrification Corporation Limited

©).568 eram AL L b ehs Semwliben S Qemmsliul L g?
(A) Q&9 B) puni®
C) @npdw Ceuerramenio omisdl ssn (D)  Aymoliyp BenowwrsEb spstd
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149. “The quantity of heat reqmred to raise the. temperature of a ‘body through one__'
degree” — Choose the correct term from the following : '

(A) He_at conduétion
(B) "~ Heat radiation

Heat convection

\'(Bf Heat capaclty _'

&Gl(.p DarH&EsOUCBeTer eapmy Grganen @gﬁ].&;eﬁ]g@

@@ @un@aﬂm Geudifleaamu ¢ 4 dfl ewisyaushe @gma}uu@w @euuumrr@m
(A) Qeuliu 5L§,g,60

(B) @muu_aaé]rrsﬁ&aa
(C) Qeutn sevemb.

‘(D) Qeudiu ghudpan

150. . The d1stance travelled by a body is du*ectly proportxonal to the square of tnne What
type of motion this body has

(A) Uniform decelerated motion

(B) Non-uniform accelerated motion
_ \M _ Uniform aecelerated motion

(D) None of the above ‘

- R Glurr@m BSHHD STLD DiF) BSTUSDE a;r@g,gzas Gasnm@u: G'rwg,gc,]an B mwgwrs (G:JITMI.D)
BmaEw0 Gungl .:9@36&1 Aussd sr;_r;g, aemsmus Coapes?

{A)  &gmew @mm @@&a; @u_la;asl.n
®  Erpp p®és Guésd
(C)  &yrew whés @u_lé;aaib

D) Cua aflume argiajb Qévened _
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151.

152.

153.

What is the chemical name of the popular pesticide ‘gammaxene’?
(A) DDT

VM Benzene Hexa chloride

(C) EDTA
(D) Phthalate

Wsayb siflapawner ‘srorsader e LsdléQarad wmpdar Caudli@Quui erarer?
(A) DDT |

B) Quereder Qandevm @Gmnmu@

(C) EDTA

®) smGoL

Bacteria convert molecular nitrogen into which of the following?
(A) HNO, : (B) Amino acids
© No, | | 7 NH,
unélg ALNESET epe&smn bl yRmar SpssamL ehs Geiowns wrHmEng? -
(A) HNO, - (B) oG Siflevmiser
© NO, (D) NH,
Which is Gypsum among the following?
(A) CaCO,.2H,0 ' B) Ca(OH),
Vef CaSO, . 2H,0 D) MgS0,.7H,0
BLIFD erag) SpSseRTcundle 6rg)?
(A) CaCO,.2H,0 B) Ca(OH),
(C) CaSoO,.2H,0 M) MgSo,.TH,0
53
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154. Which one of the following is the storage form of carbohydrate in plants and also the

principal source of energy in the diet?

(A) Glucose

Cellulose

\M Starch

Fructose
Yemaumeuareupmer greugmsaflen arrCumr-eanl CrlHisaflen é&@&qu QummeTTseay,
2 el L SE60 24HMENE (LPSETENLD DLSTTLOTHEYLD cSloThi@Geg) aTE)?
(A) @@G&m&u
(B) QsaogGameav
(C) syswd

D) ursCLmev

155. The exchange of genes between the homologous chromosome takes place during the
stage of

(A) Zygotene
(B) Pachytene

W’ Diplotene
(D) Diakinesis
958 s 2. GOImGLGsmbsErseE @ Cw glar wrmpb peLQunb A5TEH
(A)  easCsmes
B) Cusesean
©) guGammedn

D) rwresareden
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156. Competition for food and shelter will be most severe among animals when
M same species of animals live in the same area |
(B) different species of animals live_ in the same area
(C) same species of animals live in different area

- (D) different sbecies of animals live in different area

dergsaflaLCu 2 arey, shElLgSnara Cur_ g siFswrs Qg erl@uripg?

(A) @Gy Qagamg Goipg alwmniGae @Cr Lo aumpb Qurps
B) CapulL Qemsmer Caipg eleni@ser @Cr QL gde eumipb Quimpg

©€) gCyQeasms Cabg elemi@sdr Gm@@my @ sdle aumpd Qun(pg)

D) CapulL@eamsamer Gaipg eflwni@sdr QeacuGamn GLsdleo eumpb Qurps

157. Eugenics means
(A) Study of conditions affecting an organism

Treatment of a disease

VM Improvement of human race

(D) Gene therapy

waflg pHue Csiiay areig)

Q) 2Wfsmer LTH&EGD sMTETEMS idleug
B) Cpruimen GaILGESIS
(© wéﬂs&s Qagws CobLBSgIeus)

D) wrugy Hfsems Qplanm

[} . 55
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158. How many main ethnic groups are there in Indian Population?

\)/ Six main ethnic groups

(©

)

Five main ethnic groups
Four main ethnic groups

Seven main ethnic groups

BiEHu wisd Qpraale assmen ML Qentisemar Gasrreu'm.é;ﬁ

(A)
®

©)
D)

M P&EL Qentismer o cTeT Sl iaiseT
®bH WP AU Garmtisanar e dreT_sdlwiaTsear
BrenE psdu @arhisamer o drar &dlweutser

g pédlu Qemisemer e ctear_s8Leuiger

'159. The Indian. rulef who met Vasco-da-Gama on his arrival at Calicut

Bhauguwanlal

ﬁ’ Zamorin

©)

D)

Ra]endranayar

Siraj-ud-daula

STbg @bl Wamnam '@ndu@sn;n&nmn CamP&Can® eupHonidu Gurr@g] Siuenr sHESSTT? |

A)
(B)
(©)
D)

JGEN9

LIGaueamed
FsnGorfler -

TrCREAT B
Agrg - 2 & - Cgeneor
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- 161.

: 160. Which tax was not permitted by the Shariat?

(A) Agriculture Tax
(B) Tax on Non Muslims

Commercial Tax

\)P( Marriage Tax

asflws, e eulfl DieindlésuL eflerae?
(A) efeusmu eurl

- (B) apevellib evenGsm el

© QTS5 auffl

(D) Spwesr curfl

Who was the founder of Suthantra Party?

(A) O.P. Ramaswami -

(B) P.S. Kumara Swamy

@ Rajaji

(D) Kamaraj

&apHrT sL_Hows Compmeilsseurt wmm?
(A) O.P. grwoemd

(B) P.S. gwryems

- (©) grgre)

D) smogmy

57
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162. Jawaharlar Nehru was born at

(A) Aurangabad
(B) Agra

Srinagar

V(Df Allahabad

maeuanieme Crp B 2t

.(A) DI6YJRISTLTS

(D) | SSTUNS

163. Where is Chauri-Chaura village located?

(A) Madhiya Pradesh

(D) Maharashtra

Qgeril-Qaerym SFmowb 6Tmi@ DMHSIGTETS?
@)  wsHu ArGssid

®) o480 SnGasd

© egms

D) wsryreg g
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164. The Nehru Report (1928) recommended

W Complete Independence

Dominion status

(C) Federation (or) princely states

(D) Membership of the British Common Wealth

1928 Crmp iMsmswnang agemern Huniles Qelwiiul Lg).
A)  yyew sgpnd

(B) senam 8 Sinsevg)

(C) &L d (=) &Cse Spaser

D)  Gflyey Qurg seuwlier e muberT o,EH0

165. The first Metro Rail Project was commissioned in India in the city of

(A) Chennai

(D) Mumbai

@pduneiler wpger pgeiier GGy yullér HLL b Si@LESILILL eI

(A) Qsarenen
B) Qsrosssm
(C) -QLevel
D). @weu
P 59 . JGE/19
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-

166. Name the state where the high quality b_-lock mica is obfained in India_?
(A) West Bengal
(B) Uttar Pradesh

VJ‘-G/ Bihar

@) | Kerala
BpHwrefier sifls s urLpS SHDODLITET DEST THS wrflasdd Yoo Sorsdpg?
(A) Gwﬁi@mrﬂmnm& | -

®)  258n97Css
©) Sami |
D) Gsger

167. Which is thé low density planet then the water density_froxﬂ the following?

M’- S‘aturﬁ

(B) Mercury
(C) Venus
(D) Jupiter

Denaupeucnaudmer fenr e Eopanes iLisd Osnam. Csat arg?

@ o
B Gesreh
(©) S

D)  eflwmpen
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168. What are Agriculture subsidies?

A)

B)

payment for industrial growth

payment for supporting income

Wf payment made to farmer for production supporting income

(D)

payment for financial growth

CeuermerTenio Wmesil Wi GTEITMTED 6T 66w ?

(A)

®)
©

(D)

Qamfled cuari&sléE Siafllug)
GU(HLDTETSS D (& ;gj,g_r,r,reurras <ieflliug
Meusmulien 2 HUSHSGLD Sjeuaian auBrasdDéE BSTeuns Saflliug

Blé euariadlsans saflliug)

169. In HRD, what is the meaning of Job Promotion?

(A)

Employees move from a position

\ﬂ’/ Employees move to a higher position

©
(D)

Dry promotion

All the above |

wefgeuer Cuoum_iged, Lienfl GobLim’ iqer GummeT eremen?

A)

(B)

©

(D)

uenflwmerisafien Hlene wTMISE
Lamflwimarir e LentiBlenaoudmhng 2 wihbs Lienilés mmise
cupesTL Liewtl Gobum®

CnsaT Siemardgin
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170. C. Sanchar committee is related to

FERA Act . (B) IRDAAct

‘M MRTP A,ct : ._ (D) Companies Act
C.ezgmi - e Qgmfyenwig?
(4) Qurgm&elLLb o ' . .(B)_ &7 5q.6T. FLLO
(C) | eTb.rig N F LD (D) ﬂ@meﬁré SULID

171. Which of the following statements is/are correct regarding the priminister's crop -
insurance scheme 20167 ' '

L. It is necessary to protect the farmers from natural calamities..

II. -  Ensure their eredit eligibility for the next season;

Select the correct answer from given below.

A) Ionly - mth-l and II

(© Ilonly I (D) Neither InorII’
- QEr@&siud aiig')@éb g gsio wiAMuder LWk Lrgiste L b 2016—ér sfumeng) ?
' I Gauemamenserw @upes Guqkﬂeﬁlé) @@‘lﬁg-SﬂfJng]j-

T 2ipss aumLl-HDE Ll Qsing sLér Qup g@é\magch
QoG Qa;rr@ésasljl__l_l'_@érm sl arg sMwmeng)?

Ay Tw @b " (B) Twdmb Il

©) Mwresd - _ D I m@y&ll@&mm

JGEN9 - 62 | - P



172. Consider the following statement and choose the incorrect statement.

.

IL.

I11.

IV.
@)
®)
©

There is a division of judicial powers to enforce the central laws and state

laws.
Being unitary in nature, all powers rest with centre
Co—ordination is the basic aspects for centre— state relations.

Incase of conflict on the law of concurrent list the centre cannot override

I1I only
I and II

I and III

\p/ I and IV

EpsaL s ugans e(pSeLb HNID seupTer aunsdwusms CoibEsHéEseaLb.

15

IL.

1.

IV.

4)
(B)
(©)
| (D)

s, omBle &1L iseneT B P ILBEHUBIE B4 g1 Siflsmomag LEFLILL (HeTerg)

@hepwr’ 4§ wpean GEULSTO Mass SHaTrhsEnbd wHHuie i Hb 2 ererer.
wsHw wrhle Sirs 2 paysafler grmudlameanmiGu P&l DS 4EGWD.
Qurgiuligwed Qsmiurear sl sdar g apramun® Csrenmiomenme, WSHW 2T
LMl BISET FL_L_S@MS MDD (Pl UITS)
IIT (o
I wHmo IT
IT wHmd 11T

L II wpmw IV
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173. Features of Indian federal system are
(1). Division of powers - | - (2) Separation of powei's_
(3) Independent jucfipiary (4) Leadership of the prime minister
(5) A Written constitution -' ' ' |

'(A)_ 1,2_ and 5 _ Wﬂj and 5

C© Ll4and5 - D) 2,3 and 5

1

Bidu sl Lm_Hiller SpLLibsrsamarenc _
(1) =damya Gfey T (2) sdlemyl udliey
(3) sgpHywrer BHwenpid O (4) Ypsiofler gamaweann |

(5) erpsiulL pfluaensiy

(A) 1.2 wpib5 . (B 13whmb5
€y 1lL4wpmb5 : - (D) 23 wogb5

‘174, Which committee recommended for a Central Vigilance Commission

Parhament committee (B) Finance committee

\’@( Santhanam committee . (D) Mehtha commiittee
wsHws qwsmrru.:eq SLOBTUSOS THS @@ ufibgieny Q&mg@
(&)  umgmERED G ® Pfew

(©) sppmamd G | - (D) Cugzrow

176. Which one of the following is not in the state list
(A) Fisheries : _ (B) Local Government
(C) Taxeson mineral rights W Major parts

EpsSTcuhmiet ergl wran L guiciid @vﬂg@? _
4) ey Azma (B) e eaverm’_f ByeTRISD
(€C) safloisdr Bgrarauf o Aevosar (D) pEdu glepapstiseT
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176. The Central Administrative Tribunal deals with
(A) Recruitment matters
(B) Promotion matters

Disciplinary matters

\ﬂ( Recruitment and all service matters
wsHw Hlreurss Srlimud @g@u_so'r G]g,rrl_nqumg
(A) uesfluded gy er Carssa
(B) usgeil 2 witey
©) guuEpLaysns

(D) uenfluled yerGariiug) WHMID Senarss Caameuder

177. Which one of the following committees had recommended people's participation in
community development programmes?

(A) Ashok Mehta Committee _
W Balwant Rai Mehta Committee
(@) Riral-Usban Relsitionshin Commitea
(D) L.M. Singhvi Committee
Yemaumid  @Gpeded Fapgmu euaridsl S 8l wasaflen umisaiileu LlbgOISss aTHS
BW?
Q) <=Gsns G@g,gn &1
B) uveaBbsyml CLSST G
(©)  Symoliyp-pariiup 2-peis G
(D)  erév.erd. Amsed @
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178. 32:13::29:?

A) 10 v&/ 85

© 42 D) 12
32:13::29:?

A 10 (B) 85
C) 42 _ D) 12

179. What is the approximate ratio of the length of the sides of a “Golden Rectangle”?

A 14 B) 18
w/ 1:1.6 : D) 1:2
susF Qeaiassdlen ussnser Cammuwns ahs elfssHle DmwHEHHEGD

A) 14 ' ' B) 18

O - 1:1.6 (D) 1:2
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180. Supplementary angle of 88° is L e

@ 2 | Vaﬂzo

(C) 80° ' (D) 98°

88° an llens Hlyiys Camrenid .
@ 2 ®) o2
© 80 @) 98°

181. A man saved Rs.16,500/- in ten years. Each year, after the first, he saved Rs.100

more than in the preceding year. Find his savings in the first year.

(D) Rs.1,250

goaif 10 yar@saie Geiss Cwrsss Csrms m.16,500/- pse aumLsHdGL GG
gaQearm L whoswu oL L @m.100 sfswrs Csligsred wpsed eumL

Cauflly QAzrensmws sTeRTs.

(A) 51,100
B) .1,200
(C) .1,000
(D) 1,250
p : 67 JGE/19
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G 7
182. Simplify 7-1-6+[_109—)

=

) 7
\/ 3310 ® 335
3 iy, Juc
S G ‘ DO T35

&(HEGS 'I’i + [- 101]

10 21
7 ' : 7
A -3— gt
il 210 _ ® 3310
3 : : ' 3
C T— —7—
T _ ©) 210

183. A Shopkeeper allows a discount of 10% to his customers and still gains 20%. Find the

marked price of an article which costs Rs. 450 to the shopkeeper -

(A) . RazB00) .. | B) Rs. 550

\}’/ Rs. 600 (D) Rs. 650

R(H SOLESTHT S60 Gumq..ei;ma;u.lrratr'w;@&@ 10% ger@puy. HgIbd 20% Qemud cgﬂ@l_.ﬂsh;urrr'r. .@@
Qurmefle 2_amreno eflena em. 450 araflev, aﬁ@un@mﬂdﬁ G568 elemamus srans.

&) s 500 . ®) . 550

(C) . 600 = D) . 650
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184. The cost of 15 chairs is Rs. 7,500. Find the number of such chairs that can be
purchased for Rs. 12,000.

e ®) 26 | s

(C) 28 (D) 30

15 prpsnellsaflar ellena 5. 7,500 erafle e 12,0005@ er$s@ar BIHETESET QUTBISOMD?
@) 24 | B) 26

(C) 28 ' M) 30

185. (7-968)+79x4=512.

(A) 10185 ~ (® 10190
Vgo/ 11080 (D) 10180

(7-968)+ 79 x 4 = 512
(A) 10185 (B) 10190
(©) 11080 - (D) 10180

| 186. In A ABC, ]ﬁ+|_1_3=110° and E+|_C=135°, find |4_B_=?

A) 45° : B) 70°

©) 55° ' \,@(65"
A ABC 96 | A +| B=110° wpmib | B+| C=135° erafle | B éin iy wimg?

(A) 45° : B) 70°
(C) 55° D) 65°

P ' : 69 o JGE/19
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187. The_ monthly income of 6 families are Rs. 3,500, Rs. 2,700, Rs. 3,000, Rs. 2,800,

Rs. 3,900 and Rs. 2,100. Find the mean income.

(A) Rs.2,700 ~ (B) Rs.3,900

\/f Rs. 3,000 . (D) Rs.3500 -

<um GOHBUBSRET L5 e (apGu . 3.500, . 2,700, @3. 3,000, - 2,800, ¢. 3,900 |
HDHD 7. 2,100 arefled aupeumlen synsRanwus Hrews,
A) @ 2700 | . ® ® 3,900

©) ¢ 3,000 | @) . 3,500

188.  Find the principal that will yield a Si'mplé intérest of Rs. I300 in 3 years at'.2% rate of
interest per annum. |
el o500

(© . Rs.2000 - () Rs.1,000

- .(B) Rs. 3,000

%c&r@-@ﬁ_q éﬁng 2% eigd 3 ATHESG g,s.uﬂ eul g (1. 300 A s@lh crafle) Fmas

 SITERTS.
A) . 5000 | B ® 3000
€) @5 2,000 _ D) e 1,000
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. 189. Two dice are thrown. What is the probability of getting “a factor of 4” on the face of

-

the first die.
1 1
(A) i (B) ~

@ usmLsT @M GEI]’I&@L'_L.I;JU@LbGLIﬂ‘g}, Wse usLle) den sryenflger Senl seL

Qumeugnaren HlsLs586, eTeme?
1 1
(A) T8 B) %6
1 1
© < ®

190. Find the sum to infinity of the series 108, 36, 12, 4....
A) 216 162

(C) 160 _ 1 5 D) 256

Qeéraumid 4 oNedlg Qg Men saBae srewrs. 108, 36, 12, 4....
A 216 ) B) 162

(C) 160 . D) 256

p : 71- JGE/19
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191. The Sarva Shiksha Abhiyan pr.ograinme is being'implemented since 2001 for the .

significant objective of

j

New schools

Residential facilities

Transportation or Escort facilities

Uniforms and free meals

Which of the statement is incorrect?

A

(€

1 and 2 (B) 2and3

3and 1 '\}6(1 and 4

gieu Slsagm onfwnen FLLb (S@aUmEGLD &swell HLb) 2001 et WS

SIPOULOSSILILLGa (p&dliu G‘mﬁﬁaaslb.

) i

ydHw uerafiger

uetafludéd i LigS@n cusd) gpUbSSIS0

ungisTULLen dalgw Curs@eaursa)

EmerL HMID W 2 ewray

&Cyp 2 arer sapifled a1g) / erencu sflwrarency e

A) 1 whmo2 : B) 2wppw 3
(C) 3 wHmid 1 : (D) 1 wHmo 4
JGE/N19 72 ' 2mies



192. In which year The National Green Tribunal (NGT) was set up?

193.

(A) 2009 ‘MOIO

(C) 2011 (D) 2014

“Caélw use STUUTULD” eThs ETH BIDWLEFILLLI?
(A) 2009 ~ (B) 2010

(©) - 2011 | (D) 2014

What is the objective of Pradhan Mantri Grameen Sadak Yojana?

(A) Villages were linked to cities :

(B) Dastricts linked to cities

’ MEvery village is linked to a major town

(D) Villages are linked with each other

Ygsren wHHA Arrlen 56 Curgerr HiLsdear Crnésid erenen?

@A)  Spmotsmea wrEsyRsECaT(H @@maTsss)

B) wralLiusmer LTESIREGHTH GaoaTss5S)

(C) v@GiJQGlJI‘!’@ Symoseswb (psdw parmsCarn() @maTss5s)

D) eeuQeun(m SyTmsamerb genGnm® @s’u@i @ oanssa

73
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194. Consider following statement :
i i Wayanad Wild Life Sanctuary is situated in Kerala.
2. Siroe National Park is situated in Meghalays.

3. Baghmara is situated in Meghalays.

Which of the statement/s given above are correct?

»

a 1,23
VR
(©) 152
@ 23
emeu(mLd HHSSIHMe FHMISRSTET :
1. awpnr® euereien g sramrewd Carermalile) 2 areng).
2.  8Cyr Csflwu ymsr Cuasrewreled 2 drerg.
3.  usmogr Cosrawrelle o ererg.
CuGea sapUiL’ L eThg SmSH FM?
@A 1,23
® 1,3
€ 1,2
® 23

JGE/19
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195. Annapurana Mahila Mandal Scheme meant for
M Empowering Women
(B) Empowering Labourers
(C) Enhancing the Talent of youth
(D) Removal of child Labour

éi@mgrym ELPT T SL_LLD samieug)
Q) wsalmse idsmrneaigse |
(B) QsmferarisErsE sdarywaflsse
©) @oaeiseia Aol GobLEssS

D) ‘ewbes smnfeert @ity

196. 124th Amendment Act of the Parliament approves 10% Quota reservation for
(A) SC people
(B) ST people
(C) MBC people

\M Economically backward class people

umym@EnLatmaslen 1246us) &l'_L‘é,]@ggsggdﬂ aped 10% @)L 81680 upmisiLIL L g,
A) ul'_lq‘u_;Gi.) Qengzeur

B) uprEy et

(C) Vseyb IPUBSSUILLGuiT

(D) Qunmertsryssled e g,ﬁlﬁu fleSler
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197. Champions of the earth award was given by

";;d"ijbu)

(B)
©

BRICS

SAARC -

~ (D) Arab League

yeSulesr Qeum el GI'GB';‘I]J mens euphGeug) |

)
®B)
©
D)

&.‘LEIT. FenLl

 9fR&ew

Eis

27L&

198. When did the ‘National Commission on Floods’ set up in India?

A)
B
©)

1982

1996

1972

\/B( 1976

@rdwreiled eriiGumg) ‘Caélw GeueTer Y ieyd G Hoeuliul L g?

)

®)

©)
D)

JGE/19
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200.

199. Which is not the official language of the United Nations Organisation?

(B) Spanish

(D) . Arabic

Yemeumo Qumdaefle, arhg Qumll padwu prHser Fauubian sigieusd Qumluins @adame?

(A) &an angﬂ

(C) Gamflu Qwmg

Book
(A) Pandian Parisu -
(B) Alabanai -

Agal Vizhakku -

\,GB‘)/ Janahiraman —

Spssa@TL_euDNIET SeunTeT @)enanT 61| ?
LSS

(A)  unemgwen LM =

B) emueen -

C) s larég -

(D) grandlymoen -

-Which of the pair is wrongly matched?

B) evureflw Qumf

(D) <Crlw Qumg

Author
Bharathidasan
Abdul Rahaman
Varatharasanar

Appavin senahidar

<2 Aflwir
unmyglgnaen
SIS TQDLOTE
QU BTG

Sivureller SICardlg

77
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